e F RAZAA ehte] DL o REI T HABLE P4
ol "ot I 21 B4 et
A D
B E F
JR— R N N
@ AB=DE © 5.0ptAC = 5.0ptDF

© (ABC = /DEF




H
bk

oju
™
A
o
<

ol

=
0
o

o|J
P

~,
,_mv.o
Nfo

op

© %

Q F ES5HA

ull
KO

A

ull
KO




3.

& 1814 AABC co aDEF ot} o], /x @}y 9] gtg 242} 73}
H?

~\

50’ 3.?\
60°
B —C
54__’
® zx=20° y=6 @ 1x=25° y="17
® /x=30°%y=6 @ 1x="70° y="6

(@)Ax:40°, y=17

o8 = /x=/C =180°- (80° + 60°) = 40°
FolB= 35 : y=4 :8=1:2




JdFoA AABC 2} ACBD 7 #2 &=
o, BC 2] Z4o]E F5}oiat.

ofl L

1o dlo

AABC ¢ ACBD
AB:CB=BC:BD
16: BC=BC:4

BC =64

~ BC=8cm (- BC > 0)




oS T A8 A7 AR HF20]1 oBFGC °F oB'F'G'C’ 71 A=
o]

t-sste WY o, oC’'G'H'D’ oF -5t W27

A D
[}
[}
B —C A Y
[} |
! Bf——1C
[} |
E, :
//J-_-_- H /’L___H/
F d F el
O oA’'E'H'D’ @ oC'G'H'D’ @DCGHD
@ oA’'B'F'E ® TABFE

oC’'G'H’D’ of tf-3-5t= H-2 oCGHD ©]t}.




6 T2 2 =
. 1:]-_0_
= 19
o] &= =)
= Y715
2 A
28
=1 e E’%O‘I
X+
yo
e
S F8}A
1.9

i

vV V
02
L
S

ju2 ]
EUDH]7]-1
:20
122
w=2
5 yZQO]q' Ujl'
. orEbA
xX+y=
=40
It}




7. T H7]9 AABC ¢ HE =S ZOow?

@ hLst= ZHe] 37171 90°,60°,30° 2 BE Zona AA
=
o0




£ % ABC 0 aAB'C’ o] 7] g 227

o AB _BC _CA
ZXB/ - BC  COA
B B
@ == =C, [C = AC/
o %8/ B/C/
3
=—, /B=/B, /C=/C
© BC 4
@ A_B:izl’ /A = /A
A'B’ A'C 2
® (A = /A, /B = /B

B

@ SAS =] H#H F tf-got= M9
Zro| Z}z; Zrotof Jitt,

@ SSS <

® AA S

@ SAS &

G AA FS

Aol ol vjet 1 719




9.

th-2 232l AABCoJ|A AE = BE = DE?
AB=12,BD=8, CD=1¢ o, ACQ] Zdo]&

@9cm @ 10ecm @ 1llem @ 12cm

B

® 13cm

AABC ¢} ADBE ©| A
BC:BE=9:6=3:2,AB:DB=12:8
T

AABC @ ADBE (SAS &)

3:2=AC:6

. AC =9(cm)




10. o= ™A x o] dol ?

\\H——’/

o AN
=]

A

~4cm-~

@GCm @ Tcm @ 8cm @ 10cm ® 12cm

B

(C+ &5, /BAC=/DBC
AABC @ ABDC(AAR-S)

BC: AC=CD: BC
4:(x+2)=2:4, .. x=06(cm)




11.

o2 IHOA x4y O FH2?

® 19

ADEC ¢} AABC 94 /CE= F5,

/A = /DEC ©]|2 2 ADEC @ ABAC
EC:CD=AC:BC,4:5=y:159|2& y=12
T3 DE:BA=EC:AC,x:9=4:12

x=3 Lx+y=15




12. o2 IHN4 AB=6,CD =9,DE = 12 & o], x ] 327

® 2 @ 4 @6  @s ® 10

/BAC + /BCA = 90°, /BCA + /ECD = 90°
/ECD + /CED = 90° °|2&

/BCA = /CED, /tBAC = /DCE

. AABC ACDE (AA E2)
AB:CD=6:9=2:30|BE& x:12=2:3
T x=28




13. o2 A x o Zhe F5HA?

@6 @5 ® 4.8
@ 4.5 G 4

AB2 =BD-BC
16 = 2(2 + x)
2x=12,x=6




14. o4& oA /AHB = /BAC =90° 2 o, T}& 5 &

@O AABC o AHBA
@G)ac AH=5:2
® /BAH = /ACH

)

~&B

ABAC ABHA (AA B2)
AB:BH=5:30]2&
@24 5: 3 ojth.
~AC:AH=5:3




15. o2 1"oA LAED = /ABC, AD =
6cm, AE = 10cm, EC = 2cm ¥ o], x 9
Zolg 3ozt

AABC D AAED 0 §-8H|7}F2:10]E2 2:1=AB: 10
AB = 20(cm)
s x=20-6= 14(cm)




